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u tk,A 

2. The booklet contains 60 questions. 

Examinee is required to answer any 50 

questions in the OMR Answer-Sheet 

provided and not in the question booklet. If 

more than 50 questions are attempted by 

student, then the first attempted 50 

questions will be considered for evaluation. 

All questions carry equal marks. 

 2. iz’u&iqfLrdk esa 60 iz’u gSaA ijh{kkFkhZ dks fdUgha  
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gy djuk gS  iz’u&iqfLrdk ij ughaA ;fn Nk= }kjk 

50 ls vf/kd iz’uksa dks gy fd;k tkrk gS rks izkjfEHkd 

gy fd;s gq, 50 mŸkjksa dks gh ewY;kadu gsrq lfEefyr 
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vU; izdkj dh deh gks  rks mls rqjUr cny ysaA 
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1. mPp DokfyVh dk yk[k mRiUu djus okyh 

Qly gS % 

 
1. Best quality of lac producing crop  

is : 

(A) dqlqeh  (A) Kusumi 

(B) jaxhuh  (B)  Rangeeni 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

2. yk[k izkIr fd;k tkrk gS % 
 

2. Lac is produced by : 

(A) uj dhV ls  (A) Male insect 

(B) eknk dhV ls  (B)  Female insect 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

3. ,d lky esa yk[k dhV dh fdruh ihf<+;k¡ ikbZ 

tkrh gaS \ 

 
3. How many generations of lac insect are 

found in one year ? 

(A) ,d  (A) One 

(B) nks  (B)  Two 

(C) rhu  (C)  Three 

(D) pkj  (D)  Four 
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4. IyqVhYyk tkbyksLVhyk oSKkfud uke gS % 
 

4. Plutella xylostella is a scientific name of : 

(A) Mk;eaM cSd ekWFk dk  (A) Diamond back moth 

(B) cSaxu dk ruk o Qyh cs/kd dhV dk  (B)  Brinjal shoot and fruit borer 

(C) VkscSdks dSVjfiyj dk  (C)  Tobacco caterpillar 

(D) iŸkkxksHkh ds ruk Nsnd dhV dk  (D)  Cabbage stem borer 

5. gsfydksoikZ vkfeZtsjk oSKkfud uke gS % 
 

5. Helicoverpa armigera is the scientific 

name of : 

(A) pus ds Qyh cs/kd dhV dk  (A) Gram pod borer 

(B) VekVj ds Qyh cs/kd dhV dk  (B)  Tomato fruit borer 

(C) vesfjdu ckWy oeZ dk  (C)  American boll worm 

(D) mi;qZDr lHkh  (D)  All of the above 

6. esyu ÝwV ¶ykbZ v.Ms dgk¡ nsrh gS \ 
 

6. Where does melon fruit fly lay their  

eggs ? 

(A) ifŸk;ksa dh fupyh lrg ij  (A) Under surface of leaves 

(B) tehu ds vUnj  (B)  In the soil 

(C) Qy ds vUnj  (C)  In side the pulp 

(D) mi;qZDr lHkh  (D)  All of the above 
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7. rus ds pkjksa rjQ ikWyhFkhu ‘khV ;k fpidus 

okys cSaM yxkuk dhV dk fu;a=.k gS % 

 
7. Apply sticky band or polythene sheet 

around the trunk is a control of insect : 

(A) vke dk Qqndk  (A) Mango leaf hopper 

(B) vke dk Qaqxk  (B)  Mango mealy bug 

(C) vke dk ruk cs/kd  (C)  Mango stem borer 

(D) vke dk Qy eD[kh  (D)  Mango fruit fly 

8. fdl Qy dhV dk vUrjkZ”Vªh; egRo gS \ 
 

8. Which fruit insect has international 

importance ? 

(A) vke dk Qy eD[kh  (A) Mango fruit fly 

(B) eSaxks LVksu ohfoy  (B)  Mango stone weevel 

(C) vke dk ruk Nsnd  (C)  Mango stem borer 

(D) mi;qZDr lHkh  (D)  All of the above 

9. lQsn fxMkj dh ,d o”kZ esa fdruh ihf<+;k¡ 

ikbZ tkrh gaS \ 

 
9. How many generations are found in white 

grub per year ? 

(A) ,d  (A) One 

(B) nks  (B)  Two 

(C) rhu  (C)  Three 

(D) pkj  (D)  Four 
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10. dikl ds ekgw dk dqy gS % 
 

10. Family of cotton aphid is : 

(A) ,ihMh  (A) Apidae 

(B) ,fQfMMh  (B)  Aphididae 

(C) ,fQfMuh  (C)  Aphidinae 

(D) mi;qZDr lHkh  (D)  All of the above 

11. díw ds yky dhM+k dh {kfrdkjd voLFkk  

gS % 

 
11. Damaging stage of red pumpkin  

beetle is : 

(A) izkS<+  (A) Adult 

(B) xzc  (B)  Grub 

(C) fuEQ  (C)  Nymph 

(D) dSVjfiyj  (D)  Caterpillar 

12. iksyw chVy ,d Hk;kud dhV ihM+d  

gS % 

 
12. Polu beetle is a serious insect pest  

of : 

(A) dkyh ihij dk  (A) Black peeper 

(B) byk;ph dk  (B)  Cardamom 

(C) gYnh dk  (C)  Turmeric 

(D) nkyphuh dk  (D)  Cinnamon 
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13. fcgkj ckynkj lw¡M+h dk dqy gS % 
 

13. The family of Bihar hairy  caterpillar  

is : 

(A) ykbesUVªhMh  (A) Lymantridae 

(B) ,jsDVhMh  (B)  Arctiidae 

(C) uksDVhMh  (C)  Noctuidae 

(D) iSfify;ksfuMh  (D)  Papilionidae 

14. Qy eD[kh dh {kfrdkjd voLFkk  

gS % 

 
14. The damaging stage of fruit fly  

is : 

(A) lwM+h  (A) Caterpillar 

(B) xzc  (B)  Grub 

(C) eSxV  (C)  Maggot 

(D) izkS<+  (D)  Adult 

15. bfj;kslksek ysfutslsje ,d Hk;adj dhV  

ihM+d gS % 

 
15. Eriosoma lanigerum is a serious insect 

pest of : 

(A) lsc dk  (A) Apple 

(B) uk’kikrh dk  (B)  Pear 

(C) csj dk  (C)  Ber 

(D) nksuksa (A) vkSj (B)  (D)  Both (A) and (B) 



 

AG–6008 ( 8 )  Set-D 

16. fo’o esa lokZf/kd js’ke mRiUu djus okyk ns’k 

gS % 

 
16. Maximum silk producing country in the 

world in : 

(A) Hkkjr  (A) India 

(B) phu  (B)  China 

(C) ;w- ,l- ,-  (C)  USA 

(D) vkLVªsfy;k  (D)  Australia 

17. bjh js’ke dhV dks ikyk tkrk gS % 
 

17. Eri silkworm is reared on : 

(A) ‘kgrwr dh iŸkh ij  (A) Mulberry leaf 

(B) ccwy dh iŸkh ij  (B)  Acacia leaf 

(C) vtqZu dh iŸkh ij  (C)  Terminalia leaf 

(D) vj.M dh iŸkh ij  (D)  Castor leaf 

18. ‘kgrwr ds js’ke dhV dk thou pØ iwjk gksrk 

gS % 

 
18. Life cycle is completed in mulberry 

silkworm in : 

(A) 40&50 fnu esa  (A) 40-50 days 

(B) 50&60 fnu esa  (B)  50-60 days 

(C) 60&70 fnu esa  (C)  60-70 days 

(D) 70&80 fnu esa  (D)  70-80 days 

19. ‘kgrwr ds js’ke dhV dk dqy gS % 
 

19. Mulberry silkworm belong to family : 

(A) iSfify;ksfuMh  (A) Papelionidae 

(B) lVfuZMh  (B)  Saturnidae 

(C) ckWfEcflMh  (C)  Bombycidae 

(D) QkWfeZflMh  (D)  Formicidae 



 

AG–6008 ( 9 )  Set-D 

20. ew¡xk js’ke dhV gS % 
 

20. Muga silkworm is a : 

(A) taxyh  (A) Wild 

(B) ikyh tkus okyh  (B)  Domesticated 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

21. js’ke dhV ds dksdwu ds vUnj I;wih dks ekjus 

dks dgrs gSa % 

 
21. The killing of pupae of silkworm in a 

cocoon is called : 

(A) ekmfUVax  (A) Mounting 

(B) jhfyax  (B)  Reeling 

(C) D;wfjax  (C)  Curing 

(D) fLVf¶yax  (D)  Stifling 

22. ckWfEcDl eksjh gS ,d % 
 

22. Bombyx mori is a : 

(A) ,dkgkjh  (A) Monophagous 

(B) vYikgkjh  (B)  Oligophagous 

(C) lokZgkjh  (C)  Polyphagous 

(D) mi;qZDr lHkh  (D)  All of the above 

23. Hkkjrh; js’ke dhV ikyu lkekU;r;k % 
 

23. Indian sericulture is mostly : 

(A) ,dih<+h  (A) Univoltine 

(B) nksih<+h  (B)  Bivoltine 

(C) vusdih<+h  (C)  Multivoltine 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 



 

AG–6008 ( 10 )  Set-D 

24. ykokZ dh voLFkk ftlesa js’ke mRiUu djuk 

izkjEHk djrs gSa % 

 
24. The larval stage start produce silk  

during : 

(A) pkSFkh voLFkk  (A) 4th instar 

(B) ik¡poha voLFkk  (B)  5th instar 

(C) ik¡poha dh ckn okyh voLFkk  (C)  Late 5th instar 

(D) NBoha voLFkk  (D)  6th instar 

25. js’ke dhV esa iczkbu chekjh dk jksx dkjd gS % 
 

25. The pathogen of Pebrin disease in silk- 

worm is : 

(A) ukslsek ckWEchlkbZ  (A) Nosema bombyci 

(B) ukslsek ,fil  (B)  Nosema apis 

(C) ukslsek yksdLVh  (C)  Nosema locustae 

(D) mi;qZDr lHkh  (D)  All of the above 

26. js’ke dhV esa dkSu&lh chekjh cSDVhfj;k }kjk 

mRiUu dh tkrh gS \ 

 
26. Which of the following diseases in silk- 

worm is caused by bacteria ? 

(A) eLdkMhZu  (A) Muscardine 

(B) isczkbu  (B)  Pebrine 

(C) ¶yspjh  (C)  Flacherie 

(D) xzsljh  (D)  Grasserie 
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27. dsUnzh; js’ke cksMZ dk eq[;ky; gS % 
 

27. The headquarters of Central Silk Board is 

in : 

(A) ubZ fnYyh  (A) New Delhi 

(B) csaxyq#  (B)  Bengalure 

(C) gSnjkckn  (C)  Hyderabad 

(D) psUubZ  (D)  Chennai 

28. ;wth eD[kh dk oSKkfud uke gS % 
 

28. The scientific name of uzi fly is : 

(A) bDlksfjLVk lkfoZysUl  (A) Exorista sorbilance 

(B) xSfyfj;k feyksusYyk  (B)  Galleria melonella 

(C) eLdk MksfefLVdk  (C)  Musca domestica 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

29. ejs gq, dks;k ls /kkxk gVkus dks dgrs gSa % 
 

29. The process of removing of threads from 

killed cocoon is called : 

(A) ekmfUVax  (A) Mounting 

(B) jhfyax  (B)  Reeling 

(C) D;wfjax  (C)  Curing 

(D) cqukbZ  (D)  Weaving 

30. js’ke dhV esa eLdkWfMZu jksx fuEufyf[kr ds 

dkj.k gksrk gS % 

 
30. Muscardine disease in silkworm is caused 

by : 

(A) QQa¡wnh  (A) Fungus 

(B) cSDVhfj;k  (B)  Bacteria 

(C) ok;jl  (C)  Virus 

(D) izksVkstksvk  (D)  Protozoa 



 

AG–6008 ( 12 )  Set-D 

31. js’ke dhV esa dkSu&lh chekjh U;wfDy;j ikWyh& 

gsMªksfll ds dkj.k gksrh gS \ 

 
31. Which one of the following diseases  

is caused by nuclear polyhedrosis  

virus ? 

(A) eLdkWfMZu  (A) Muscardine 

(B) isczkbu  (B)  Pebrine 

(C) ¶yspjh  (C)  Flacherie 

(D) xzsljh  (D)  Grasserie 

32. ,f’k;kbZ e/kqeD[kh dk oSKkfud uke gS % 
 

32. The scientific name of Asiatic honey bee 

is : 

(A) ,fil ¶yksfj;k  (A) Apis florea 

(B) ,fidl MklsZVk  (B)  Apis dorsata 

(C) ,fil fljkuk bf.Mdk  (C)  Apis cerana Indica 

(D) ,fil esfyQsjk  (D)  Apis mellifera 

33. ‘kkgh Hkkstu lzkfor fd;k tkrk gS % 
 

33. The Royal Jelly is secreted by : 

(A) ykj xzfFk ls  (A) Salivary gland 

(B) gkbiksQsjsfUt;y xzfUFk ls  (B)  Hypopharyngeal gland 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 
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34. jkuh e/kqeD[kh fdl izdkj ds v.Ms nsrh gS \ 
 

34. Which types of egg is produced by queen 

bee ? 

(A) fu”ksfpr  (A) Fertilized 

(B) vfu”ksfpr  (B)  Unfertilized 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dkbZ ugha  (D)  None of the above 

35. Jfed e/kqeD[kh gS % 
 

35. The worker bee is : 

(A) ck¡> uj  (A) Sterile male 

(B) ck¡> eknk  (B)  Sterile female 

(C) tuu{ke uj  (C)  Fertile male 

(D) tuu{ke eknk  (D)  Fertile female 

36. e/kqeD[kh esa fdl izdkj dk iSj ik;k tkrk gS \ 
 

36. Which type of leg is found in honeybee ? 

(A) jsIVksfj;y  (A) Raptorial 

(B) Qqlksfj;y  (B)  Fussorial 

(C) djlksfj;y  (C)  Cursorial 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

37. e/kqeD[kh esa fdl mnjh; [kaM ij ekse xzfUFk;k¡ 

ikbZ tkrh gSa \ 

 
37. In honeybee on which abdominal 

segment are wax glands located ? 

(A) 3 ls 6  (A) 3 to 6 

(B) 4 ls 7  (B)  4 to 7 

(C) 5 ls 8  (C)  5 to 8 

(D) 7 ls 10  (D)  7 to 10 
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38. e/kqeD[kh esa vesfjdu Qkmy czwM chekjh gksrh 

gS % 

 
38. In honeybee American fowl brood 

disease is caused by : 

(A) cSDVhfj;k ds dkj.k  (A) Bacteria 

(B) ok;jl ds dkj.k  (B)  Virus 

(C) QQw¡nh ds dkj.k  (C)  Fungi 

(D) izksVkstksvk ds dkj.k  (D)  Protozoa 

39. iqjkuh jkuh dk izfrLFkkiu ubZ iq=h jkuh ds 

}kjk djus dks dgrs gSa % 

 
39. Replacement of an old queen bee by a 

young daughter queen is called : 

(A) LokfeZax  (A) Swarming 

(B) ,CldafMax  (B)  Absconding 

(C) lqijkfltj  (C)  Supercedure 

(D) LFkkukUrj.k  (D)  Migration 

40. Hkkjr esa vk/kqfud e/kqeD[kh ikyu ds tud  

gSa % 

 
40. Father of modern beekeeping in India  

is : 

(A) ,- ,l- vVoky  (A) A. S. Atwal 

(B) MkW- ljnkj flag  (B)  Dr. Sardar Singh 

(C) MkW- ,p- ,l- izwFkh  (C)  Dr. H. S. Pruthi 

(D) MkW- ,e- ,l- ef.k  (D)  Dr. M. S. Mani 

41. e/kqefD[k;ksa esa lapkj ds v/;;u ij  

fdl oSKkfud dks ukscy iqjLdkj iznku fd;k 

x;k \ 

 
41. Which scientist won Nobel prize to  

study of communication of honey-  

bee ? 

(A) ,- ,l- vVoky  (A) A. S. Atwal 

(B) MkW- ljnkj flag  (B)  Dr. Sardar Singh 

(C) izks- dkyZ okWu fÝ’k  (C)  Prof. Karl Von Frisch 

(D) bZ- ,Q- fØifyax  (D)  E. F. Kripling 
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42. pØh; ùR; ds }kjk [kk| lzksr nwjh dh lwpuk % 
 

42. Round dance indicates the food source 

distance : 

(A) 50 ehVj ls de  (A) Less than 50 meter 

(B) 50 ehVj ls vf/kd  (B)  More than 50 meter 

(C) 100 ehVj  (C)  100 meter 

(D) mi;qZDr lHkh  (D)  All of the above 

43. Jfed e/kqeD[kh esa Mad :ikUrfjr Hkkx gS % 
 

43. Sting of worker honeybee is a modified 

part of : 

(A) ,uy ljlkbZ dk  (A) Anal cerci 

(B) ,fMxl dk  (B)  Aedeagus 

(C) v.Mjksid dk  (C)  Ovipositor 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

44. guh ¶yks u gksus okys fnuksa dks dgrs gSa % 
 

44. The day when no honey flow is called : 

(A) MFkZ dky  (A) Dearth period 

(B) ‘kq”d dky  (B)  Dry period 

(C) guh ¶yks dky  (C)  Honey flow period 

(D) mi;qZDr lHkh  (D)  All of the above 

45. e/kqeD[kh ds izFke mnjh; [k.M ds i’p o{k 

ds lkFk la;qDr gksus dks dgrs gSa % 

 
45. Ist abdominal segment of honeybee fused 

with metathorax is called : 

(A) izksiksfM;e  (A) Propodeum 

(B) xSLVj  (B)  Gaster 

(C) isfV;ksy  (C)  Petiole 

(D) mi;qZDr lHkh  (D)  All of the above 
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46. ch feYd dks dgrs gaS % 
 

46. Bee milk is called : 

(A) e/kq  (A) Honey 

(B) ‘kkgh Hkkstu  (B)  Royal Jelly 

(C) usDVj  (C)  Nectar 

(D) ijkx d.k  (D)  Pollen grain 

47. bLys vkWQ okbV chekjh dk dkj.k gS % 
 

47. Isle of Wight disease is caused by : 

(A) cSDVhfj;k  (A) Bacteria 

(B) ok;jl  (B)  Virus 

(C) QQ¡wn  (C)  Fungi 

(D) ekbV  (D)  Mite 

48. jkuh e/kqeD[kh izfrfnu v.Ms nsrh gS % 
 

48. Queen bee produces egg/day : 

(A) 800-1200  (A) 800-1200 

(B) 1200-1800  (B) 1200-1800 

(C) 1800-2000  (C) 1800-2000 

(D) 2000-2500  (D) 2000-2500 

49. dsUnzh; e/kqeD[kh ‘kks/k o izf’k{k.k laLFkku dk 

eq[;ky; gS % 

 
49. The headquarters of Central Bee 

Research and Training Institute  

(CBRTI) is in: 

(A) iq.ks esa  (A) Pune 

(B) casxyq# esa  (B)  Bengaluru 

(C) gSnjkckn eas  (C)  Hyderabad 

(D) ubZ fnYyh eas  (D)  New Delhi 
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50. ,fil esfyQsjk dks dkSu&ls oSKkfud us bVyh 

ls  Hkkjr esa izfrLFkkfir fd;k \ 

 
50. Which scientist introduced Apis mellifera 

from Italy to India ? 

(A) MkW- ljnkj flag  (A) Dr. Sardar Singh 

(B) izks- ,- ,l- vVoky  (B)  Prof. A. S. Atwal 

(C) dkyZ oku fÝ’k  (C)  Karl Von Frisch 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

51. fo’o esa Hkkjr dk e/kq mRiknu esa LFkku  

gS % 

 
51. India’s rank in honey production in  

world is : 

(A) izFke  (A) Ist 

(B) f}rh;  (B)  IInd 

(C) r`rh;  (C)  IIIrd 

(D) lkrok¡  (D)  Seventh 

52. xSfyfj;k feyksfuYyk gS ,d % 
 

52. Galleria melonella is a : 

(A) cM+k ekseh ‘kyHk  (A) Greator Wax Moth 

(B) y?kq ekseh ‘kyHk  (B)  Lesser Wax Moth 

(C) rVS;k  (C)  Wasp 

(D) ekbV  (D)  Mite 
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53. Hkkjr esa lokZf/kd yk[k iSnk djus okyk jkT; 

gS % 

 
53. In India highest lac producing state  

is : 

(A) NŸkhlx<+  (A) Chhattisgarh 

(B) e/; izns’k  (B)  Madhya Pradesh 

(C) fcgkj  (C)  Bihar 

(D) >kj[k.M  (D)  Jharkhand 

54. bf.M;u bULVhV~;wV vkWQ uspqjy jsftu ,.M 

xEl dk eq[;ky; gS % 

 
54. The headquarters of Indian Institute of 

Natural Resin and Gums (II of NR and G) 

is in : 

(A) jk;iqj eas  (A) Raipur 

(B) fcykliqj eas  (B)  Bilaspur 

(C) jkaph esa  (C)  Ranchi 

(D) leLrhiqj esa  (D)  Samastipur 

55. yk[k dhV esa dkSu&lh xzfUFk yk[k dk lzo.k 

djrh gS \ 

 
55. Which gland in lac insect secretes lac ? 

(A) jsftu xzfUFk  (A) Resin gland 

(B) yk[k xzfUFk  (B)  Lac gland 

(C) D;qVsfu;l xzfUFk  (C)  Cutaneous gland 

(D) mi;qZDr lHkh  (D)  All of the above 

56. yk[k dhV dk oSKkfud uke gS % 
 

56. Scientific name of lac insect is : 

(A) dsfjvk yDdk  (A) Kerria lacca 

(B) ysflQj yDdk  (B)  Laccifer lacca 

(C) VSdfMZ;k yDdk  (C)  Tachardia lacca 

(D) mi;qZDr lHkh  (D)  All of the above 
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57. yk[k dhV dk x.k gS % 
 

57. Order of lac insect is : 

(A) gsehIVsjk  (A) Hemiptera 

(B) dksfy;ksIVsjk  (B)  Coleoptera 

(C) fMIVsjk  (C)  Diptera 

(D) gkbesuksIVsjk  (D)  Hymenoptera 

58. yk[k dhV fdl izdkj ds v.Ms nrh gS \ 
 

58. Which types of egg are produced by lac 

insect ? 

(A) fu”ksfpr  (A) Fertilized 

(B) vfu”ksfpr  (B)  Unfertilized 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

59. yk[k dhV esa fdl izdkj dk tuu ik;k tkrk 

gS \ 

 
59. Which type of reproduction is found in 

lac insect ? 

(A) lthoiztrk  (A) Viviparous 

(B) v.Miztrk  (B)  Oviparous 

(C) vfu”ksdtuu  (C)  Parthenogenesis 

(D) v.Mlthoiztrk  (D)  Ovoviviparous 

60. lokZf/kd yk[k mRiUu djus okyh Qly gS % 
 

60. Maximum lac producing crop is : 

(A) dqlqeh  (A) Kusumi 

(B) jaxhuh  (B)  Rangeeni 

(C) nksuksa (A) vkSj (B)  (C)  Both (A) and (B) 

(D) mi;qZDr esa ls dksbZ ugha  (D)  None of the above 

 



  

   

4. Four alternative answers are mentioned for 
each question as—A, B, C & D in the booklet. 
The candidate has to choose the most 
correct/appropriate answer and mark the 
same in the OMR Answer-Sheet as per the 
direction : 

 4. iz’u&iqfLrdk esa izR;sd iz’u ds pkj lEHkkfor mŸkj  

A, B, C ,oa D gSaA ijh{kkFkhZ dks mu pkjksa fodYiksa esa ls 

,d lcls lgh vFkok lcls mi;qDr mŸkj Nk¡Vuk gSA 

mŸkj dks OMR vkUlj&’khV esa lEcfU/kr iz’u la[;k esa 

fuEu izdkj Hkjuk gS % 

Example :  mnkgj.k % 

Question :  iz’u % 

Q. 1  iz’u 1 

Q. 2  iz’u 2 

Q. 3  iz’u 3 

Illegible answers with cutting and  

over-writing or half filled circle will be 

cancelled. 

 viBuh; mŸkj ;k ,sls mŸkj ftUgsa dkVk ;k cnyk x;k 

gS  ;k xksys esa vk/kk Hkjdj fn;k x;k  mUgsa fujLr dj 

fn;k tk,xkA 

5. Each question carries equal marks. Marks 
will be awarded according to the number of 
correct answers you have. 

 5.  izR;sd iz’u ds vad leku gSaA vkids ftrus mŸkj 

lgh gksaxs] mUgha ds vuqlkj vad iznku fd;s tk;saxsA 

6. All answers are to be given on OMR Answer 
sheet only. Answers given anywhere other 
than the place specified in the answer sheet 
will not be considered valid. 

 6. lHkh mŸkj dsoy vks- ,e- vkj- mŸkj&i=d (OMR 

Answer Sheet) ij gh fn;s tkus gSaA mŸkj&i=d esa 

fu/kkZfjr LFkku ds vykok vU;= dgha ij fn;k x;k 

mŸkj ekU; ugha gksxkA 

7. Before writing anything on the OMR Answer 
Sheet, all the instructions given in it should 
be read carefully.  

 7. vks- ,e- vkj- mŸkj&i=d (OMR Answer Sheet) ij 

dqN Hkh fy[kus ls iwoZ mlesa fn;s x;s lHkh vuqns’kksa dks 

lko/kkuhiwoZd i<+ fy;k tk;sA 

8. After the completion of the examination 
candidates should leave the examination hall 
only after providing their OMR Answer 
Sheet to the invigilator. Candidate can carry 
their Question Booklet. 

 8. ijh{kk lekfIr ds mijkUr ijh{kkFkhZ d{k fujh{kd dks 

viuh OMR Answer Sheet miyC/k djkus ds ckn 

gh ijh{kk d{k ls izLFkku djsaA ijh{kkFkhZ vius lkFk 

iz’u&iqfLrdk ys tk ldrs gSaA 

9. There will be no negative marking.  9. fuxsfVo ekfd±x ugha gSA 

10. Rough work, if any, should be done on the 
blank pages provided for the purpose in the 
booklet. 

 10. dksbZ Hkh jQ dk;Z  iz’u&iqfLrdk ds vUr esa  jQ&dk;Z 

ds fy, fn, [kkyh ist ij gh fd;k tkuk pkfg,A 

11. To bring and use of log-book, calculator, 
pager and cellular phone in examination hall 
is prohibited. 

 11. ijh{kk&d{k esa ykWx&cqd] dSydqysVj] istj rFkk lsY;qyj 

Qksu ys tkuk rFkk mldk mi;ksx djuk oftZr gSA  

12. In case of any difference found in English 
and Hindi version of the question, the 
English version of the question will be held 
authentic. 

 12. iz’u ds fgUnh ,oa vaxzsth :ikUrj.k esa fHkUurk gksus dh 

n’kk esa iz’u dk vaxzsth :ikUrj.k gh ekU; gksxkA 

Impt. : On opening the question booklet, first 
check that all the pages of the question 
booklet are printed properly. If there is ny 
discrepancy in the question Booklet, then 
after showing it to the invigilator, get 
another question Booklet of the same series. 

 
egRoiw.kZ % iz’uiqfLrdk [kksyus ij izFker% tk¡p dj ns[k ysa 

fd iz’u&iqfLrdk ds lHkh i”̀B HkyhHkk¡fr Nis gq, gSaA 

;fn iz’uiqfLrdk esa dksbZ deh gks] rks d{kfujh{kd dks 

fn[kkdj mlh fljht dh nwljh iz’u&iqfLrdk izkIr  

dj ysaaA 
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